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Friday 31st January:  Homework   Name:_____________ 

Q1. 

20% of 3,000 =   
1 mark 

Q2. 
  

80% of 115 = 
 

1 mark 

Q3. 
  

15% of 3,200 = 
 

1 mark 

Q4. 
  

43% of 900 = 
 

1 mark 

Q5. 
  

52% of 700 = 
 

1 mark 

Q6. 
  

99% of 600 = 
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Q1. 

Which sentence must end with a question mark? 
  

  Tick one. 

Do you know how long it took for the trees to grow  

We have planted rose bushes around the trees  

How beautiful the flowers will be  

I will ask my teacher if I can show you 
 

1 mark 

Q2. 

Look at the underlined pronoun in the sentence below. 
Circle the noun that it refers to. 

Early  bicycles  did  not  have  pedals,  so  riders  had  to  push 

themselves  along  using  their  feet. 
1 mark 

Q3. 

Insert a semi-colon in the correct place in the sentence below. 

It  was  raining  heavily  she  had  lost  her  umbrella  the 

week  before. 
1 mark 

Q4. 

Which sentence is punctuated correctly? 
  

  Tick one. 

After he ate the lion lay down, and slept for many hours.  

After he ate the lion, lay down and slept for many hours.  

After he ate, the lion lay down and slept for many hours.  

After he ate the lion lay down and slept, for many hours.  

1 mark
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